1.5 SOLUTION SETS OF LINEAR SYSTEMS
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THEOREM 6 Suppose the equation Ax = b is consistent for some given b, and let p be a
solution. Then the solution set of Ax = b is the set of all vectors of the form

l W = p + v, where v,, is any solution of the homogeneous equation Ax = 0.
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| An indexed set of vectors {vy, ..., v, in R" is said to be linearly independent
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THEOREM 8

If a set contains more vectors than there are entrieﬂ'ﬁ each vector, then the set
is linearly dependent. That is, any set {v,

..... v, } in R” is linearly dependent if
ﬂ p > n.
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